o ¥ o o
L O NN
(0] N N AN

O
=
(@)

1/0 do/dsqrt{d_} [GeV]

0.14

0.12

0.1

0.08

0.06

0.04

0.02

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets
T r T T r o e T e e T T 1
- Splitting scaIeV d,, (antl—kT(l.O), 500< p_< 600, ly| < 2.0) =
— B ATLAS _
= Pythia 6.428 359 =
[ —A— Pythia 6.428 370 ]
- Pythia 6.428 a =
— --¥-- Pythia 6.428 dw s
— —o— Pythia 6.428 p0 .
— % Pythia 6.428 pro-q20 ]
- -
.| ':

I T TN R I N T TN R I T T R | T

0 10 20 30

sqrt{dzg} [GeV]

Rivet 3.1.0, = 13M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


